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Recall the key features of a parabola

opt+imel \Velve
s} * Maximum / Minimum

*

y - intercept
* Vertex

1O " * x-intercept(s)

ot * Axis of Symmetry




complete the square.notebook November 21, 2019

A football is kicked and follows the path h = - d’+ 8d + 9, where

h is the height and d is the horizontal distance jaway ror,n the
kicker. Determine the maximum height of the ball. ﬂﬂiﬁ
i * Not realistic numbers *
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What does each form of a quadratic tell us about the graph?
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Determine a value for "k" that will
make each a perfect square trinomial

y=x"+6x +Kk y=x2+4x+\k_
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Determine the vertex of the following parabola.
y=x’+6x+7
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Complete the Square

To convert from standard form to vertex form

3.

Vertex - (3-0) 4

1.

2.

Steps

O, G—i’Jc Yowse(@ sOome.

~e6OoM .

Determine a value that would
make a perfect square trinomial

Add and subtract that value from has42
your expression _ . Poed\"\' ¢ A
“h oNn-

Factor the perfect square trinomial

Add / Subtract the remaining
numbers.



complete the square.notebook November 21, 2019

Determine the vertex of the following
y=x2+12x@—\, y = x*-20x + 35
AR B2y | 90
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A football is kicked and follows the path h = - d’+ 8d + 9, where
h is the height and d is the horizontal distance away from the
kicker. Determine the maximum height of the ball.

* Not realistic numbers *
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y=2xX+12x-9
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